
John Deere - Parts Catalog
Printer Friendly Page

Close Window

 

 

Catalog: 2767 | Grid: 0 | Section: 30 | Page: 191

Catalog Name: 5105 and 5205 Tractors

Page Name: FUEL TANK AND LINES

Direction of Travel:

key PART NO. PART NAME QTY SERIAL NO. REMARKS

1 AM123508 Filler Cap 2

2 JD5929 SMV Emblem 1

3 21M7246 Screw 2 M6 X 16

4 R119551 Elbow  Fitting 1 210594- (USE WITH RE184110)

R119551 Elbow  Fitting 1 220625- (USE WITH RE184110)

5 M149638 Bushing 1 210594- (USE WITH RE184110) (SUB FOR M119928)

M149638 Bushing 1 220625- (USE WITH RE184110) (SUB FOR M119928)

6 R81596 Gasket 1

javascript:window.close();


7 RE72864 Sender 1

8 24M7138 Washer 5 5.300 X 15 X 1.200 mm

key PART NO. PART NAME QTY SERIAL NO. REMARKS

9 19M7373 Cap Screw 5 M5 X 20

10 AT13740 Drain Valve 1 (USE WITH RE184110)

11 TY22465 Hose Clamp 2

12 R119990 Adapter Fitting 1

13 ...... Fuel Tank 1 (SUB FOR R139648) (ORDER RE184110) (ALSO ORDER TY22552, CUT TO LENGTH)

14 RE184110 Fuel Tank 1 (SUB FOR RE72352)

15 14M7167 Lock Nut 2 M10

16 R138673 Strap 2

17 19M7808 Screw 2 M10 X 65 (HS=10.9)

18 14M7298 Flange Nut 4 M8

key PART NO. PART NAME QTY SERIAL NO. REMARKS

19 R138407 Bolt 2

20 24M7028 Washer 2 10.500 X 20 X 2 mm

21 RE72839 Lock 2 VANDAL GUARD (OPTIONAL) ( R E72839 NO LONGER AVAILABLE)

22 TY22559 Bulk Hose AR -210593 RETURN (CUT TO LENGTH) (USE WITH RE72352)

TY22559 Bulk Hose AR -220624 RETURN (CUT TO LENGTH) (USE WITH RE72352)

23 TY22462 Clamp 2 -210593 (USE WITH RE72352)

TY22462 Clamp 1 210594-XXXXXX (USE WITH RE184110)

TY22462 Clamp 2 -220624 (USE WITH RE72352)

TY22462 Clamp 1 220625-XXXXXX (USE WITH RE184110)

TY22462 Clamp 3 XXXXXX- (USE WITH RE220719)

key PART NO. PART NAME QTY SERIAL NO. REMARKS

24 R130951 Fitting 1 -210593 (USE WITH RE72352)

R130951 Fitting 1 -220624 (USE WITH RE72352)

25 TY22552 Bulk Hose 1 -XXXXXX 1900 MM (75.0 IN), CUT TO LENGTH, SUPPLY

26 TY22551 Bulk Hose AR 210594- 2950 MM (116.0 IN), (CUT TO LENGTH) RETU RN (USE WITH RE184110) (SUB FOR R184114)

TY22551 Bulk Hose AR 220625- 2950 MM (116.0 IN), RETURN (CUT TO LENGT H) (USE WITH RE184110) (SUB FOR R184114)

27 TY22462 Clamp 2 210594- (USE WITH RE184110)

TY22462 Clamp 2 220624- (USE WITH RE184110)

28 TY22552 Bulk Hose 1 XXXXXX- 1410 MM (55.5 IN), SUPPLY (CU T TO LENGTH) (SUB FOR R222396)

29 RE220719 Strainer 1 XXXXXX-

30 TY22552 Bulk Hose 1 XXXXXX- 430 MM (17.0 IN), SUPPLY (CUT TO LENGTH) (SUB FOR R222398)


